Peso netto, peso lordo, tara, in tabella

	Peso lordo
	Peso netto
	Tara
	Equivalenza
	Operazione

	25 kg
	22 kg
	30 hg
	30 hg = 3 kg
	25 kg – 3 kg= 22 kg

	170 g
	1,5 hg
	20 g
	1,5 hg=150 g
	150 g + 20 g= 170 g

	2500 g
	2,2 kg
	300 g
	2,2 kg = 2200 g
	2200 g + 300 g =2500 g

	2,75 hg
	   2,50 hg
	25 g
	25 g = 0,25 hg
	2,75 hg – 0,25 hg = 2,50 hg

	12 kg
	10,5 kg
		1500 g
	1,5 kg = 1500 g
	12 kg – 10,5 kg = 1,5 kg

	1,5 hg
	135 g
	15 g
	1,5 hg = 150 g
	150 g – 15 g = 135 g

	100 kg
	972 hg
	2,8 kg
	972 hg = 97,2 kg
	97,2 kg + 2,8 kg =100 kg

	0,7 kg
	5,4 hg
	1,6 hg
	0,7 kg = 7 hg
	7 hg - 5,4 hg = 1,6 hg

	115,3 hg
	903 dag
	25 hg
	903 dag = 90,3 hg
	90,3 hg + 25 hg = 115,3 hg

	860 g
	60,6 dag
	25,4 dag
	860 g = 86 dag
	86 dag – 25,4 dag = 60,6 dag

	250 kg
	2105 hg
	39,5 kg
	2105 hg = 210,5 kg 
	250 kg - 210,5 kg = 39,5 kg

	1000,5 g
	900,5 g
	1000 dg
	1000 dg = 100 g
	900,5 g + 100 g =1000,5 g
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